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1 Introduction
In last RAN4 meeting, there were many progresses regarding NR RRM test cases, e.g., RRM test case list with priority rule, RMC, and so on. However, there are still some issues. In this contribution, we provide our views on one of the remaining issues, i.e., SCS for SSB.
2 Discussion
In the adhoc minutes [1], there are following sentences highlighted by yellow. RAN4 discussed the relationship of numerologies between SSB and data, however there was no agreement due to operator’s concern.

	Define test cases configurations for initial works,
· Parameters of SCS for both SSB and PDCCH/PDSCH are 15k for sub-3GHz, 30k for sub-6GHz and 120k for FR2 providing the UE supports such capability
· The same numerology is used by PDCCH/PDSCH and SSB at the same time in the same test
· Exceptions are not precluded



In case of FR1, simultaneous reception of PDCCH/PDSCH and SSB with different numerologies is optional feature. Therefore, it is straightforward that RAN4 focus on applying the same numerology to PDCCH/PDSCH and SSB for the simplification of initial work on RRM test case. 

Proposal 1:
In case of FR1, RAN4 should focus on applying the same numerology to PDCCH/PDSCH and SSB for the simplification of initial work on RRM test case.

In case of FR2, 240kHz SCS can also be applied for SSB in addition to 120kHz. Figure 1 shows the example of frame structure for FR2. When 240kHz SCS is applied for SSB, the occupied range by SSB on time domain is half compared to 120kHz SCS on condition that the same number of SSBs are allocated. It means that more data resources can be allocated on time domain. Instead of that, the occupied range by SSB on frequency domain is extended, however it is not an issue since it has already agreed in scheduling restriction part that UE is not expected to transmit PUCCH/PUSCH or receive PDCCH/PDSCH on SSB symbols to be measured regardless of SCS for PDCCH/PDSCH and SSB. Therefore, operators can apply the different SCS between PDCCH/PDSCH and SSB in FR2 and it is not related to UE capability on simultaneous reception of PDCCH/PDSCH and SSB with different numerologies. On the other hand, some operators will apply 120kHz SCS for SSB in order to align with that for data. It is up to operator’s deployment scenario which one they choose. From above reasons, we propose that RAN4 should include both 120kHz and 240kHz SCS for SSB in RRM test cases.

Observation 1:
In case of FR2, it has already agreed in scheduling restriction part that UE is not expected to transmit PUCCH/PUSCH or receive PDCCH/PDSCH on SSB symbols to be measured regardless of SCS for PDCCH/PDSCH and SSB.

Observation 2:
Operators can apply the different SCS between PDCCH/PDSCH and SSB in FR2 and it is not related to UE capability on simultaneous reception of PDCCH/PDSCH and SSB with different numerologies.

Proposal 2:
RAN4 should include both 120kHz and 240kHz SCS for SSB in RRM test cases.
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Figure 1. the example of frame structure for FR2
3 Conclusion
In this contribution, we provided our view on SCS for SSB in NR RRM test cases. Our observations and proposals are as follows:

Proposal 1:
In case of FR1, RAN4 should focus on applying the same numerology to PDCCH/PDSCH and SSB for the simplification of initial work on RRM test case.
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Observation 1:
In case of FR2, it has already agreed in scheduling restriction part that UE is not expected to transmit PUCCH/PUSCH or receive PDCCH/PDSCH on SSB symbols to be measured regardless of SCS for PDCCH/PDSCH and SSB.

Observation 2:
Operators can apply the different SCS between PDCCH/PDSCH and SSB in FR2 and it is not related to UE capability on simultaneous reception of PDCCH/PDSCH and SSB with different numerologies.

Proposal 2:
RAN4 should include both 120kHz and 240kHz SCS for SSB in RRM test cases.
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